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SOUTHERN 	 1T1tS1QJ 

1Thj 	() 	frt Ri1 	n 
WRITTEN EXAMINATION FOR THE POST OF CHIEF LOCO INSPECTOR! BG (NORTH) 

t)J,T 	TVUthLT/ U 	(iia) uàmr &i 

IDate: 15.03.2024 	 rrc 	irj/WltI/Time: 2 hrs 

u15riT!'3{fd 	lt-c1I/Maximum marks: 100 

3fTf1Z 	 I INSTRUCTIONS TO THE CANDIDATES I 	rj 

T 
Check that the Question Paper contains 110 questions and if any unprinted/torn pages are found, get it replaccd. 

6Tfl6U 	110 	36Ts1iTh6iT 9 	6161T 6T6T 	rflurrrrj,4,9P L uu/1 	Uthth1FrJth6TT 	FUULLt), 

I 6 

N. -flTzf 110 	1 t I 	tt 	 1T 	t I 	1TRT 	fTt i U cH 	sEF @1/3 

fii 	iitni I 

There will be 110 questions with four multiple choice answers. Each Question carries equal mark. There will 
negative mark @ 1/3 for each wrong answer. 

Li6l 	(L6 	110 	 JjtL. 	J6)JT 	aJ~(~5Lh 	5!D 	61UT 

j 
Jt)6JTa3 gi6vjoTr6vr uj&b @ 1/3 r$)wjr wQur 	IiD. 

3. qT 	 qt 	 nm 

It may be noted that in the event of any doubt/discrepancy, the most apt option and the English Version will 

prevail. The candidates appearing for the exam are requested to clarifi their doubts about any questions/option, 

at the beginning of/ during the examination, so that the same shall be clarified/corrected/substituted, for the 

benefit of all. 

D/ 6 TLJW3 	6JULLJF6), 	[1313,6)jtD 	LJTLrT6T 	616ULD 	[LJLD 	f5i1606 	UhJL1 

JL 	 thr$Thv 	r6Tr61ie. 	616V 	UJ(D 	 UTTth64 

cT/1JnJuID 	j5h 	 / - fl&r 	 /c - ifloT 	IJTi 

thLT TrithsiT,o i rr 6).) 	cT6J((Lo 	56T6)Lf 	6TDULD 	 6D6)i 

-iii-- 3fqfq 	4.3ff 	 .31ll-I W.TT 1 	11 	9i 	Z-Rf .31Jgct, t I 

f -q -4 0144 i 	/ThT 	 I 	I 	/ 	 I 

Candidates are required to fill Items No.1 to ii in the OMR answer sheet. Use only Blue/Black Ball Point 
Pen for writing/shading/darkening on the OMR Sheet. Gel Pens/Pencils are not allowed. 

uirthr OMR 	 n-sifl 	6T6T I (p) 11 6J6 	thrir 	U9%6T 	$Ju 	irih. 

OMR 	r6fj6b r 	!fçp6$I 	ujrri,j, 	 urr' u1jL 	LI6)TrU)6)J inLi 	uubdbaju). 

Q6 	 6ir/t1u6*rá16)s6T 	 LJULT. 

ft 	 -qT f-rrf 
l 	 1T TIT WThT 	 Tt1 	Ri 	ii TuRi 

fi q Ri1 	cF 3flT 	IT9l 

The OMR answer sheet contains duplicate copy and DO NOT ATTEMPT TO SEPARATE OR DISPLACE 

THE DUPLICATE COPY WHILE ANSWERING. The shading/darkening done on the original OMR answer 

sheet will automatically appear on the Carbonless Copy and hence no separate shading/darkening requires on the 

carbonless copy. 

OMR 	 r6b RT1TJ 	DJDJW U 	iflta 	un-j ,5,6)6U LPIfl 	6IT 	 0jn6JT 

bá1à 	iüri.wib. 	OMR 	 Tflbi 	ffUJUJUU 	 ,1ILTrn6flTTI 	T6TTthE6)i aT1ru6T 

bth56L) 	6TJLD, 	6T6Tb1J 	ffiTTU 	 ~,55 f 	 mflrj 

(33,6n61106i)6n6l). 
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6. i 	 - 	 R)I, 1Hl 	T 3R # f5 

LOCI c9) *cll i I ' 9 	t5T 'l I 	Ill 	 fii Tq arw Rt 7TQ41 	M.aR 7ff 	T 9t '1 t  I 

Corrections of any type on the OMR Sheet (eg. Overwriting, cutting, erasing or alterations of any type in the 

answer) will not be accepted. Zero marks will be given for such answers. No replacement OMR Sheet will be 

provided. 

OMR nfli 	irr 	ii 	 itr (r.rr. (2L0060(g'TJA6b'  

Q6r6Tr 	 jji.h 	wprjir) 	QITLUL.WI. 	6thuJ 	uá 	 UJ 

w161u6&rth4r 	iiu. wirbj OMR 	fr crJ6tb 	JLuLJrJ. 

T 
Please enter your Employee No only in the BOX provided in the Answer Sheet and darken the corresponding 

circle. 

6Tf) 	 UuL6Tr1T 	ULt060 	_JW 	U6flUJfl1rfl 	f)r 	[aLLD 	9 64ai-Lg, 

ui 

8 & 1 	110 	3R al{ct'c-1 A, B, C, D 	tI # ftq Ttl Mc 	&51IT 	0 g Fci 	(A, B, C, D) 

zfft 	f4f l 
Answers to Questions I to 110 are given in the multiple choice as A,B,C,D. Choose only one correct answerjr 

each question from the multiple choice given (A,B,C,D) and darken/shade the appropriate circle fully. Changes 

are not permitted once answered. 

I 	p 	110 	dwr 	 á&r ui& A,B,C,D 6Tw u 	rii 	 uimirr. 

uLç9iir u 	 ifi 	(A,B,C,D) 	6j06-J 	ifláio 	- 9(5  ,'d9uirrcr u$ 	ieLib 

)ULeT6T 	L6 	iJLDT 	 UL4/6L). 	9(5(,U6 	U1flT6L) 

wEiir 	WLJULJrJ. 

dl/ TWD6)W /Correct Method 

9 110 	 100 	I3[l 	TT 	 100 

T qgq i cp 1 fii 77M 31I 	 P1 	100 t 3fIt 	5 	 'ft V1Tt --Tft fTIItIIl 

913l4tI 

Candidates are strictly advised to answer only i0 questions out of 1 lO questions. The first attempted 100 

questions will be evaluated and answering more than 100 will be ignored even though correctly answered. 

Answering of questions in official language is NOT COMPULSORY. 

rir 	110 	 rf1 	100 	 LDLLD 	U)thth 	6J6W1[D 	616T1 

uJITri6iT. 	(p6&'O 	 100 	6fl86Tr 	U1L6UL3, 	lOOW 	UULL 

6Lth6ir 	rfluJtrthU 	U2JW 	 fluu)w. 	MWaj6o 	DT65 	 U16)6TflLJUJ 

10. I qt&fT 	T 	 f1i 	c 	tft 	 I 3fUfffti fctt  
1IFl 	 & 3fI 

Please handover the OMR sheet along with its du'licate copy to the invigilator before leaving the examination 

hall. No OMR sheet copy should be carried by the candidate. Candidates are allowed to take the Question Paper 

with them after the examination. 

uJ 	61IIL 	Q6)JUJJW 	g6iT 	OMR 	ffrr6ncff 	j 	 Lthr 	T6fl6ufr6Trd9Lw 

OMR __TfT 86L) ___________icrir átj. 	ithr 	Ejti 

LPp 	 rrr 	ø Off6b6o up&. 
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IN 
	

1.rj U.ffl6U D m Gu UimrflGu 	JGLI 	LJ1Df5l 	j Q 	uLr&rr  
Gradients at stations are given in 

A) SWR 	 B) GWR 
C) 	GRS 	 D) None of these 

irr 90 Qu 	 ij M6MLuirrmLh 	UU!DJ / 	T STI 	ff ftBi 
46TIH 	RT 	51T 	/ Colour light distant signal identified by  

A) 	"G" Marker 	 13) "P" Marker 
C) 	"C" Marker 	 D) "A" Marker plate "C" Marker Light 

______ GZ$1 (4J1 )tLL6T WLU (urr rra 	 ODC 	räsa 
U 1!ODC 

shall be allowed to be attached by a train for transport only with the prior sanction of  

A) DRM/DOM 	 B) DME/DEE 
C) 	COM/CRS 	 D) None of the above 

CMS 	 rir 	/ 1-PI 3P_____ / Objectives ofCMS 

A) 	Optimization of crew 	 B) Monitoring of LR and training schedules 
C) 	Monitoring of lQhrs duty and HOER 	 D) All of the above 

L6)LJUrrar L114)GaT 6 6n @T tr 
What are the effects of Flat tyre _______ 

A) 	Rail fracture 	 B) Derailment 
C) 	Hot axle 	 D) None of these 

Absolute Block System-BG &o rja6O68T urr 	arra, 	QLG1L____ 	o 
/ 
For protection of a train in Absolute Block System BG, The first detonator is placed at__________ 

A) 	400 mtrs 
	

B) 600 mtrs 
C) 	500 mtrs 
	

0) 250 mtrs 
jdGo 	6i6)8S, tIJ5)CLD G)51)GU _40 
Whistle code to indicate train parting is_________ 

A) 0000 	 B) 0 

C) 000 	 0) 00 
L6)L 6U1j11L1GU, LSS 

	

	4cJurr6u 6Gr4rJ Qirrr 	lffrrLb ____ 	b./ 	T 11T 
]/In double line, for shunting beyond LSS the authority is__________ 

A) 	T/806 	 13) Shunt key or PN 
C) 	T1806 + LSS (shunt key) 	 D) None of these 

uth___ 	 nrr 	iu 	uLiwrGar. / kiiff 	i ci4fci fT TTM t l / 
Accidents are classified into 	classes. 

A) 18 	 B) 20 
C) 15 	 0) 16 

E)51U 	1TI66UT 	86)8 D1DJLD 	6T ffr(5 	6J46ULU 	./ #ET 	f 	 i nti 
WI_______ tl / Accident Enquiry Report & its Summary form is__________ 

A) ACC-18 	 B) ACC-16 
C) 	ACC- ll 	 0) ACC-12 

	

11.3-phase EMUffrr6& )(pGi wrrcbró1ur(TCU) Qt1u 	6T6a pLb r61`1? / 3UJ 111 4iRii tqqF 
'1ctq5T 31R3 	 Z1T ? / What is the Output Voltage of Traction Converter for 3-Phase EMU? 

A) 415 	 B) 1800 
C) 855 	 D) 25000 

12. 3-phase EMU 	rrai 	rr$& 	orrLLrr168r 'luJi 6)1Lh 6T1T7?/ 3-7 1Z 	 T Th 
/ What is the Gear Ratio of Traction Motor for 3-Phase EMU? 

A) 4.55 
	

B) 4.478 

C) 5.20 
	

D) 5.521 
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L&6T6aT(1D 	 rr6u, 	TthL1 	GLD 	6T6ö1GT 	Lo? / 2 	T , 	5lT 3{J ffFcFU 

/ If the Voltage increases, what happens to dielectric strength? 

A) Increases 
	

B) Decreases 

C) 	Remains the same 
	

Dl Becomes zero 

EMU 	crflEt Qa1u6juL.sr 	3(2ij*s 	GaGT 	Lb Qci.L .6'51(J 	i Q61J6rfluJ1D 

tqTqtT # fi RlId -i4i 	 Tf? / 

What percentage of non-functioning brake cylinders are allowed in EMU rakes to leave from shed?. 

A) 85% 	 B) 90% 

C) 809/0 	 D) 95% 

u 9 0 culuJrr 83 Q\iib 	ju 	 rflGtr Qt.arr 	 flAG 	____ 616th 

1HTl/ 

The total nuiiiber of magnetic field lines passing through an area is termed as  

A) Voltage 
	

B) EMF 
C) 	Magnetic flux 
	

I)) Magnetic flux density 

QU rr6nrr 	u 	6n rj ULFJ61T 	 6M rj uJUu®r?/BR1'3f 

/ Usually phasor diagrams are drawn to represent ?. 

A) 	Peak value 
	

B) RMS value 

C) 	Average value 
	

D) Instantaneous value 

6j) 	 L 	UJiJ uu 

Can ohm's law be applied in an AC circuit? 

A) Yes 	 B) No 

C) 	Depends on the rms current 	 D) Depends on the rms voltage 

WAG7 	rr6516itr Currg 	ccii 	 u1iDi./ WAG7 	1' 	T1TTTI / 

The bogie of a WAG7 loco is called__________ 

A) 	Flexi Coil Bogie 
	

B) Tn-Mount Bogie 
C) 	High Adhesion bogie 

	
D) FIxi-Mount Bogie 

Q6u646thT6o 	 WhL4)66 6iT61T 	6th)6)J LDrrLLrrrJ16o 26TT61T tU06thT 

fl6 	 .1 	 (ZF 	HT- 	 l / 

Numbers of poles in a Locomotive's (Conventional) Traction motor is_____________ 

A) 4 
C) 8 low 

9(  DC 

	

	LrrrJ16), Back EMF 	GTJ _63(5  cir.uJrra 	rrLorrL. / DC 	t5 EMF fti 

lglcflTl/1n a DC Motor, Back EMF is directly proportional to_________ 

A) 	No. Of Conductors 
	

B) Flux 

C) 	No. Of Poles 
	

D) Speed 

21.3 Cu" 	thTL8$6,th1 cLDrrLLrr 	GthTJ, @rjeda@ U6flJ 	Lff6thT 8U6th)6rTUIL6thT 

Tth83LJULL.STGU 	!LLU. 	.1 	11WW 	11 	'2 17 .3ff9 
	

I! 

If a three phase induction motor is connected to 2 phase supply__________ 

A) 	Will run at lower rpm 	 B) Will run at higher rpm 

C) 	May run with fluctuation in speed and D) 	May burn 

torque 

6j 9 Q R 6ur C rj LLGT 6T 6U @j rrp LDluL51Luu)gl6thrcer? / 3,Fc 	1 	 ? / 

How the alternators are rated? 

A) KVA 
	

B) KVAR 
C) KW 
	

D) KWH 

ULLl Qu6iT rr 	orurr & Q 6n Gm zt& LiuL6ftGT16thr. 	 Hlith 	/ 
Battery Cells are connected in parallel to___________ 

A) 	Increase the voltage output 	 B) Increases the internal resistance 

C) 	Decreases the current capacity 	 D) Increases the current capacity 
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WAG5A 

	

	 SA9 Qp6oLb 3CUEis uuiurr 	pLb 	./ WAG5A 	SA9 

llll / In WAG5A loco. the Brake application pressure through SA9 is ................. 

A) 	5.0 kg/cm2 	 B) 3.5 kg/crn2 

C) 	6.0 kg/cm2 	 B) 7.0 kg/cm2 

LGU)t.D 	 8ItGUW LDLU 	LOGU........QL1UJrrGtT Qrfl6& 	uj6u 

LDG 1 1JLb "6urr 	61" 6TGTJ 	 U J./ 	 fft &TX 

Period of duty hours over and above .......... hours in the case of continuous workers is called as "Long ON". 

A) 6 	 B) 8 

C) 10 	 D) 12 

"QrrLff - 6QturrJuLu" & " 	 -QuJ JUL61 	" (TLD 	LUL 	W6U1 1D61T 

LIJ1ELD 	 1tGT U 	GtT 	JULDLI 	6UUL 6'2J6öT®LU. / TRM 	f 	1T 

'3fft 	T "T 	3ffl' 3 "Tm 31T" 	fi 	 1ll / The ceiling limit of a trip for a 

Running staff should be kept within 	hours including the time of "Signing ON" & "Signing OFF". 

A) 14 	 B) 16 

C') 10 	 D) 12 

2,. CTR 	u, 	T.P (Lrrr& CLjrT~ruL A606Ugj 	OHE nJurr&r) 30 KMPH 	 u81tGO1 C51J 

60 iLl 	 I! 

In CTR, the Time loss for 30 KMPH speed restriction over one T.P (Traction Post or one Ol-IE Span)_________ 

A) 	5 minutes 	 B) 4 minutes 
C) 	3,5 minutes 	 B) 3 minutes 

EMU WJL:D MEMU 	UJ66IJ 	&U)GMUL4 ffLJGthJ UGuLh 	 UU®r(D6T. / 

.ctRin 	1Tfll / EMU and MEMUs are provided with .................couplings. 

A) CBC 
	

B) Automatic 

C) Schaku 
	

D) ABC 

@1Ju/i1GU L')rjk6'U UJrT(W @ rj US1G\)U 	60UJ9'1tJ 	OflE~ 	)5r6U 

LLUULtrJ. / zTR 	49i1 	tl[fI1 	 fTT Teta 	 TTTfi / 

If train parting is observed by any Railway Servant 	signal should not be exhibited. 

A) Right 
	

B) Danger 

C) 	No 
	

D) None of the above 

u/610 ART 	W 	G)Jffrr6aT QLjrr&6)i16T 	(LO ------ ---61L[JffGT. / 
'3fl 	 T lIHI' 	------ 	l / 

General target time for turning out ART' during day / night is ------minutes. 

A) 30/45 
	

B) 15/30 
C) 20/30 
	

D) 45/60 

3 1. 30 QJ 	aE,rr616u. ....... ier 	 BP 	 rr 	QJw COC 

r)L./ 30 t9 	......... 	ii1 	 jj4 	 191 TRql / 

In 30 dead loco. ....... COC should be open for charging BP pressure into auxiliary reservoir. 

- 	 A) 70 
	

B) 74 
C) 47 
	

D) 136 

32.30 	rrcir shunting QtiJw. ........ 	i51L 	tu ............. 	cuu 	6J 	ir)i. / 30 	Jf 1T 
............ 	 ll/ 

To perform shunting with 30 loco. keep ..........switch in ..........position. 

A) 154;0 	 B) 154J 

C) 160J 	 D) 1600 

33.30 	rrca,rru ruLrrrrL Q81JUILb aurrggd, UBA L61LLJ:J "0" S3& arrLL LD~JgLh ffrrrJ1LrTI 

6$1U6)6U 6TGrrT6U, M C B 	 ................. LIrrQw. / 30 	 1i "0" 

1T ............../ While energizing 30 loco, if UBA meter is 

showing "0" and corridor lights are also not glowing, check the MCBs No............... 

A) 	100,110 	 B) 	112,112.1 

C) 	110, 112 	 D) 	100, 112.1 
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34. WAG-9 	O6UJ WAP-7 Q68T 	rr(%rr Lá 	Gru1r turri, c6urrarr. KN 6)J6fJ 	Lrri./ 

WAG-9 ZlT WAP-7 	III tf 11fUT 	 KN aT 9lHJ ifi I / 

During loco brake testing of WAG-9 or WAP-7, loco should not to move up to ..............KN. 

A) 100 	 B) 125 
C) 300 	 D) 150 

35.30 	rrrru, currarr MPS 2 @9L tcu5L. ....... % 	1atorra 	1TG\J, 	41U & 81tL 	41J515161T 

LD 	iLb,/30 tzO , 	Tn-d -~W Rqftz-ut......... % 

In 30 loco, if speed is more than .........% than loco MPS, only audio visual indications will appear. 

A) 0.50 	 B) 15 
C) 5 	 D) 50 

36.30 	rru urj 	 rr6)jrrffi u 	uiCo Curro, ILbLoLqA urrr66lo 	rrâ6ru 	rr 

43 L 6T Co / 3 0 	 g 	 I / 

While working 30 loco as banker, close ............COCs in pneumatic panel. 

A) 70& 136 	 B) 70&74 
C) 	74&136 	 D) All the above 

37.30 	 ............. 0ur 	LrrBGiT 	rfl)Co 	cau witD QujouCo. / 30 

1RI 	T 	 / In 30 loco. ......... auxiliary motors works only in cooling mode. 

A) All three 0 and single 0 	 B) All single 0 motors and motors MCP I & 2 
C) 	Only single 0 motors & MCPA 	 D) None of the above 

38.30 	rrcu, SS-09 ............... gi 6T 	WLl 	Qwrror. / 

-09 	 fl41dl / In 30 loco, SS-09 belongs to ...............sub system. 

A) 	Brake system 	 B) Auxiliary converter No.3 
C) 	Auxiliaries HB-I D 	 D) Battery system 

39.30 	rru, SS-16 ..................ir 	6LOLJ3 	Q&rr 	Lorr60rJ. / 

30 	111-16 ............... UIT VuMt t#dOl / In 30 loco, SS-16 belongs to ............sub system. 

A) 	Cab-2 	 B) Memotel (Speedometer) 

C) 	Fire detection 	 D) Processor FLG-1 

40. WAG-9 C6urrC&rT6urr6ur& .............crc 	 u36urr61 tbrJL1. 37é 	LIr86TU4LU .DdiCo ......... 
u.Slcurrctw urrâg)rj 3Tá 	 crru4Co Q Co./wAG-9 TT 
5 1IF 	TT 	 91T 

WAG-9 loco is provided with .............No. of direct brake cylinders and ........No. of parking brake cylinders. 

A) 12&4 	 B) 12&12 

C) 4&12 	 D) 12&6 

41.30 	 urrrj 	rath uujthuCiu®Co turr, urrIri 	a___ 

30 	, 	 1TT 	RIdI t l/ 

In 30 loco, when parking brakes are applied, parking hake gauge shows________ 

A) 	6 Kg/cm2 	 B) 4 Kg/cm2 
C) 	3.5 Kg/cm2 	 D) 0 Kg/crn2 

WAG-9 	uuj WAP-7 	rrth 	Courflth 	 Q 	rrcrrr (GT6LD 

LDlDJLD 	6TL11LD1G)QL) 	G)L!88LU 	diiCo) / WAG-9 U WAP-7 ................ 	RT 

(TT 	3 id1 	H 	) / 
WAG-9 or WAP-7 locos are having ..............number of dampers (in both primary and secondary suspension). 

A) 16 	 B) 20 
C) 40 	 D) 10 

30 urrrrlu, BPFALDL)Co 9ifica urri 	 tuá 	 /30, 31Iqft 
iTITT 	..... 	 / In 30 loco, on run, glowing ofBPFA alone indicates ...............fault. 

A) 	Priority-I 	 B) 	One of the sub system is isolated 
C) 	Priority-2 	 D) 	Priority-I fault or Priority-2 fault 

WAG-9 currrr ............... "6m& Curr@~6zm 	G)&rr6?,va(j)eiTGTTO. / WAG-9 11 	............ 	RTft tt l / 
WAG-9 loco is having ...............type of bogie. 

A) 	Co-Co flexi coil 	 B) Co-Co Tri mount 
C) 	Bo-Bo flexi coil 	 D) Co-Co tetra mount high adhesion 
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45.30 	rr6u, LSFI 	T Q 	LUJ1T 	TfiIJG)iJ____ rium 	 LI 30 	, 

______ 	 / In 30 loco. Cont inuous glowing of LSFI indicates_ 

A) 	Priority-I fault 
	

B) 	At least one sub system is isolated 
C) 	Prioritv-2 fault 
	

D) 	Priority-I fault or Priority-2 fault 

	

46.30 	rrrru, 49& 6T 6dUr-1 ( 	1&$Gtt aTQ6JLLir-1) 	fi6mLnüu® 	............... 5l 	u____ 

06nGuuS6~) 6G 	 1 	 I / 
In 30 loco, to isolate truck No. I (traction converter-I), keep ..............switch in ...........position. 

A) 	154. Auto position 	 B) 	154. II position 
C) 	154, 1 & 11 position 	 D) 	154. I position 

WAG-7 (27200 	twj) 	JLi WAP4 	rrGr$)60 thrr L-4, [-5 & [-6 6)6UT 	LL61fl6T 

(UL)LLD .................../ WAG-7 (27200 	 WAP4 	# UT~ T 	[-4, L-5 	[-6 5) TT tR I / 

Location of line contactors L-4. L-5 & L-6 in WAG-7 (above 27200) & in WAP4 locos is at ............... 

A) 	HI-I BA-I panel 	 B) HT-3 BA-2 panel 
C) 	HT-3 BA-3 panel 	 1)) HT-3 BA-4 panel 

WAG-S 	rrcu R-1 COC 	i 	rLJL1LLU ............. 1' WAG-S i1it 	R-1 COC 41 P4F ............R t I / 

Location of R-1 COC in WAG-S loco is at ................ 

A) 	Above wheel no.4 
	

B) Near control reservoir 
C) 	Cab-I center locker 

	 D) Cab-I left side locker 

WAG-S, WAM4 & WAG7(27199 6Jm) &U MVSL-1 &bT QLJL1LW .........../ WAG-5, WAM4 3?) WAG7 (27199 CT5) 
MVSL-1 T1JFf ............... tRI .1 Location ofMVSL-I in WAG-S. WAM4 & WAG7 (up to 27199) is at .............. 

A) 	HT-1 compartment towards corridor-I 	B) HT-2 compartment towards corridor-I 
C) 	HT-I compartment towards corridor-2 	D) HT-2 compartment towards corridor-2 

Qacro G 6u rrarrcu 	rrt.urf)co 	rci arrjja68r 	LU16J 

uwTuu®Di ./ 	iici 	Tfrt .......\Ijjg 	rJ3gI DTMTRTTI / 
In conventional locos . ........ reservoir pressure is used for horns. 

A) MRI 	 B) MR4 
C) MR3 	 D) MR2 

SMGR 	 ................ 	L/ Qau 2. /Normal pressure of SMGR is ................ Kg/cm2. / 

7I-)I-1 	................ 514r/42 	l / Normal pressure of SMGR is................Kg 1cm2. 

A) 	2.5 -3.5 	 B) 	3.0- 3.0-2.0 

C) 	3.5 - 4.5 	 D) 	5.0-3.0 

@68TdONO 	 FP 1QLb ...........g[/ Q02 	GILb LU1bUI1U 24 rritJ QuLGrflc&r 
LTL 	SLR 	J ........ Kg/cm2 	QL 	 6T®I1D./ 	 .d4-I 	 T/2 	iiI 

........ ........... ffl/2l/Minimum FP pressure Should be ..........Kg! cm2 in 
locomotive and .......... Kg/cm 2 in rear SLR of a 24 coacies formation. 

A) 	6.0.5.8 
	

B) 	6.0, 5.9 

C) 	6.0, 5.7 
	

D) 	6.0.5.6 

U 	L11UGLJ 	 rflcu 	 usu 	w 	 rra. ............... 	rruci 

.............................. 
For lowering or for raising the pantograph in three stages ...............valve is provided. 

A) 	Panto servo motor 	 B) Throttle valve 
C) 	Both A & B 	 D) None of the above 

1CJ3LL 

	

	GJ J1G)4 (SEC) L5)crQJ(Lb GT 	FJcflTrrrco uUuJ? 	1 	d 

/ Specific energy consumption is affected by which of the following factors? 
A) 	Retardation and acceleration values 	 B) Gradient 

C) 	Distance between stops 	 D) All of the above 

Q6ro 	rrtarrtho Ucrrni Q 	6U1T6G ...... L1/ Q12 GTGtiT 	WUUL(pGiT(.TTL/ 

Hd 	 ...... 	 / 

In conventional locos duplex check valve is set at ......kg! cm2. 

A) 5.0 
	

B) 4.9 
C) 6.5 
	

D) 8.0 
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MU 	 rflu, 	Tr6fi 	rrrru MU2B 	 / 

	

aTnTft 	tl / In MU locos. MU213 position in leading loco is.........and in trailing loco is .............. 

A) 	Lead, Lead 	 B) Trail, Lead 

C) 	Lead,Trail 	 D) Trail, Trail 

thQ 	 QJ 	rrrr6u, IP (M) COC .......... 1GGua5)u 	 uGr®CU./ 	I.11 

s31Ttft (tl) t3M1 .......... 	 / In conventional dead loco, IP (M) COC must be in ..........position. 

A) Open 	 B) Close 

C) 	Either close or open 	 D) None of the above 

& 60 	46TU C 6u rrarri 	QiiJt.0 ZPT 6)6ö)86t)UJ ( 	L1IJ QuL4u) ............... 

6)61J 	 1r 	6UU .................... ...GU 	 UUGILfl. / 	 MRI 

ZPT 51T 	 fTl 	 ffJ i14 .................. fTI 	'Tt I / For grounding conventional 

loco, place ZPT key in HOM box in...............position and turn it to .......................position in clock wise 

direction. 

A) 	7 o'clock, 9 o'clock 
	

B) 5 o'clock. 6 o'clock 

C) 	II o'clock, 1 o'clock 
	

D) 5 o'clock, 7 o'clock 

MU 	 rr6u, 	Q rj 66eTG) rrrfl 	 wt.orr 	 rr di 	€)ujrr 

uüu(Dl. / 	, 	 5T Tqt 	 TITF TTTl / 

In MU locos, both locos' pneumatic pressure is maintained equally through ...........pipe. 

A) BP 
	

B) FP 

C) 	BC equalising 
	

D) MR equalising 

Li 	06Ui L6uLrrurr1 ..............QQ661J 	1T606)51 	u J./L1 ML6 	1IT t, t .......OT 

iqeicii M tl / When LI or L6 is not closed, then .......traction failure occurs. 

A) TLTE with GR progression 	 B) TLTE w/o OR progression 

C) 	PLTE 	 D) 1st notch auto regression with LSP 

sly 	 MCP 6TT 6)JGU QffUJUJ..... & .....U8,8S1T 	LLUUL 	udr(3ib. / 

In SIV locos, to work MCPs.....& .......clays should be energized. 

A) QCON&QTDIOI 	 B) QTDIOI 

C) QCON 	 D) Ql00 

sly 	 rflu RB 2L uuJGUru)uJ 	6 	j f5rrL 	Cj3r~ima;u6S1rru...............1TGUTLL 

	

pLUULGTTQT[T TTUG 	 UUGLD. I 	 3IIT5T 31i11'1fl 	t5 	FITh1 i 39{5 

................. 
After using RB in SIV locos. experiencing 6th notch tripping, ensure whether ..............contactor is closed. 

A) C108 	 B) C107 

C) C1l8 	 D) C145 

aiorr LliijrrFau 	rr6D~o, qjib currffrr U 	 6Gfl8' 	iu 	ij~5tK5 cpT a46bGogj 6J1 

urrrr 	TUS1GU .............QlL 	 1OaGO 	UU6 	J1 U® 	GrlLo / 	thT 	if, 
__ 

	

jgqu 	 T fst 'U 	lT 	 T 	I / In micro processor loco, 

before checking any loco equipment or attending any loco trouble ensure to keep ................switch in open position. 

A) NBA 	 B) HPAR 

C) BLDJ 	 D) HOBA 

RB &68T 	urrj SIV 	 rfu. .................... 	wrrLLsrI5 	oju QJG 	Jl1DJ LDL...................rrrr 
cU6B'CU QLUUJ 	QLJ J. /fl NR 	 .................. 

In static converter locos during RB. ............... motor stops working and ............motor starts working. 

A) MVRF, MVRH 	 B) MVRH , MVRF 

C) 	MPH, MVRH 	 D) None of the above 

WAG-7 	rr&u 06rL 	 GiTaT u 	rrrjth ........% 	 aioujuib, u,s 
)rT r~j&,)&& QUrL 	L42( 	jurrj .......% Qr&i &6mmGmuju4Lb ffimtgj Q GulfDJ./ WAG-7 11 

	

% 	 ......... %tl/InWAG-7 
loco the side bearers nearer to the centre pivot carries ..........% of vertical load & the side bearers away to the centre pivot 
carries ......... % of vertical load. 

A) 40,60 
	

B) 100,0 

C) 50,50 
	

D) 60,40 
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161 
rcflri 

	

	8T( 	wrro u uo tjpp 	Lu 	ic 

4 T1THh/ 

Running staff shall be granted rest of 	including full night in bed in a month. 

A) 	4 periods of 30 hours 	 B) 5 periods of 22 consecutive hours 

C) 	Either A or B 	 Dl None of the above 

CmTCffirr Qici 	 IJT "c 	-18" 	 1Tr 	&?15 "-18" J4U 

TTI /Loco performance statistics "Statement -1 8" describes........... 

A) Engine hours 	 B) Train & Engine kms 

C) Train & Engine hrs 	 D) Fuel statistics 

61 6$uIJ _____LLJUGLUS1Q urruuL ugro. 	 / 

Crew links are to be prepared based on  

A) Sanctioned strength 	 B) Rake link 

C) Loco link 	 D) WTT 

currrr 	Li_ crrrru:_________ 'I 	 5J 3{ : 	 l/Loco Outage means:_______ 

A) 	Loco outage = Engine KMs for traffic use/24 hrs. B) Loco outage = Engine Hours for traffic use/ 24 hrs. 

C) 	Both A & B 	 D) None of the above 

TLC/ucu 	L7rT6\iif16ur LLJUGL BLGmLD 	-. / 	fl/T1R *M-v1F TiI&1 	I / 

Basic duty of TLC/Power controller_____________ 

A) To arrange motive power 	 B) To gude running staff 

C) 	Planning of locos to home shed for maintenance 	Dl All of the above 

C M S 0 GO, 7 1LO L15J661T 	611 ftrTG1T / 	, 	___TTl / 

In CMS. Routes can be created at 

A) Depot level 
	

B) Division level 

C) CRIS/NDLS 
	

D) Zonal level 

rirr 	166IJ trrr 	 rriici aflc 	 urri nj5j 	 rji 

LLITLU LD rr (5 L. / 	Tf #qqm 4 afR 	co  f1t 	TT 	 I Ti qmIR 3rftcro t I / 
When there is a falling gradient of 	 towards block section the provision of slip siding is compulsory. 

A) lIN 100 
	

B) 11N200 

C) lIN8O 
	

D) uN 150 

ju 	ic41c&r QL J th1T UU)GT (UU 	UJJ Lh ____/ 
1II19 	 l / The super elevation of track at the beginning ofa Transition curve is___________ 

A) Infintie 	 B) 10mm 

C) 5 mm 	 D) Zero 

BG 'C' LUJLb D' urrw1u njLQiLjL Láu uojnL 	rf1i 	LüJuLL LD1LJL GT&T? /4Ofl'' 

What is the permissible value of lateral wear on Straight Track in BG 'C' and 'D' route'! 

A) 	4mm B) 	8mm 

C) 	6mm D) 	10mm 

Qru EMU36& 9 iu 	59ib / 	 Th-R '3{1Th/ The gear ratio for Conventional EMU is 

A) 	20:91 B) 	20:02 

C) 	40:70 D) 	10:1 

QrQ.qTu EMU/MEMU a306v rrrib 067n6U 	)LliLU 	LUWJLU ____ 	UJ 	T1TJ / 
EMU/MEMU 	 H3____ 

The Secondary suspension is between  and --in EMU/MEMUs. 

A) 	Bogie. wheel B) 	Wheel, Body 

C) 	Body. Bogie D) 	Wheel, wheel 

Qiu EMU/MEMU crflu RLbu 	3dTffi&r 	uULLsrco, )) 	 tflGu 96TJ 	.JG\) QiuuJrrJ. 

/ 	 'TI / 

()ne of these brakes will not work if jumper cables removed in Cons' EMU/MEMUs. 

A) Auto brake 
	

B) DMH brake 

C) Emergency brake 
	

D) EP brake 
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78. 	b 	 agjurr3) 	 Out of these which is not awheel defect? 

A) Cracked tyre 
	

B) Loose axle 

C) Flat tyre 
	

D) Hollow tyre 

EMU/MEMU )6U 	 6rLJL) 6j1DLiLLr64 	COC 	 UU611LD 

13i1 	3fPT 	/ In case of brake binding in EMU/MEMU. isolate 	COC. 

A) EPIC 
	

B) AIC 

C) BIC 
	

D) Air suspension isolating cock 

EMU tLorrLLrr tarru BC 	pLb_? / 	Pt 	tT 	1fl 	- ? / 
BC pressure in EMU Motor Coach is? 

A) 1.6kg/cm2 
	

B) 1.8kg/cm2 

C) 1.2kg/cm2 
	

D) 2.0 kg/cm2 

EMU 	u, MR urrIff,rrI.JLl 1t6J6 _____ 	o 	 tJJ4 

iT? / In EMU, MR Safety valve acts at 	 ? 

A) 8kg/cm2 	 B) 9kg/cm2 

C) 7kg/cm2 	 D) 6kg/cm2 

Qicisr\i EMU Q68T QuLL4 6BPd&GiT wçbiLb 	 8rT6OT uJ 	 rQth? 

Hc1 	 TNRI 	_? i 
The operating voltage for compartment fans & lights of Cony EMU is_______ 

A) 266V,AC 	 B) 24V,DC 

C) I1OV,DC 	 D) 141V,AC 

3 phase EMU 	arrr POH urjrrLDrfl q 	rT6-oT arrcu AcrTq I 

3 	 T 	) 	13i1Th 	 3IT1T ---------------/ 
Periodicity for POH schedule for 3 phase EMU rake -------------- 

A) 18 months 	 B) 30 months 

C) 24 Months 	 D) 36 Months 

___ 	 1rJ 6T6TU1 31I Qadju 	tU1tJ GTGtTIJ)l 	L IGa)L3U3 	LGStTLD 	gGo 

Gqp r~j(5Lh 	ujrro./ -------------- 	 6TTTl / 

braking is the method of giving back energy to the system during braking. 

A) Dynamic 	 B) Regenerative 

C) Auto 	 D) Electro Pneumatic 

OHE 	Pantograph 	r QrrLrL 6)1Ga)8 	.1 	 -h/)tI 	itt* 	 v 
Contact force of Pantograph to OHE is__________ 

A) 10kgf 	 B) 7kgf 

C 8k9f 	 D) l2kgf 

thrQ 	Q6TU EMU/MEMU )GJ OVR 81t6T 	TT( 	4GLDLJt LD)UL) .................. / 	Hd 

3t31R 	ft 	l'T 1TI .................. t / Voltage setting value for OVR in Cony EMU/MEMU is.................. 

A) 900V 	 B) 4000V 

C) 540V 	 D) 266V 

TPWS 	ks&rr& uu)DJ / 	 1T / TPWS will 

A) Detect Balise missing 
	

B) Sense signal aspect 

C) Detect wheel slipping 
	

D) Alloftheabove 

QG6r6u EMU/MEMU a&f1, OL 5 & 6 IJ16u L616T6NFrLLLD ...............LDL)UJ 6)L 	8LU(LU 

curri 	 ff6J LJJ1LJ3IEJ Q rrü uU 	U®flJ /H1 

............... ............ . rTli 
In Cony EMU/MEMUs, OL 5 & 6 relay meant for tripping the circuit breaker when the current exceeds............... 

Ampere. 

A) 900 	 B) 4000 

C) 500 	 D) 360 
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(T) 
Q6J46TGU EMU/MEMU &,crflo TLTE 	rriá, MPT/MCB 	UL1ri wiCa 	TJ MC arfltnb 

HOBAi GU)DiTT 66mGui.36b 	 LID(8jLD LLGLU 	( 	6)i1GUGtOGU 6TT(D1tGU, 

CmrTC-Lri-~Cw6bT 	J -l1d 	 TrTs f, tf 	 H1 ffilnu 

For TLTE fault in Cony EMU/MEMUs. if MPT/MCB tripping and unable to reset even after keeping HOBA in fault 

position in all MCs. Motorman to 	and clear the section, 

A) Remove B jumper and work 
	

B) Remove A jumper and work 

C) Remove C jumper and work 
	

D) Remove D jumper and work 

3 phase EMU LSktT LWfljlU)6U GT 	GeT-aL 	t6fW uUuflJJ? 

3 	EMU 	 __ 	jqq WEITm? 

Which semi conductor device is used in the converter of 3 phase EMU? 

A) GTO 	 B) SCR 

C) MOSFET 	 D) IGBT 

3 phase AC EMUG& TM giiu 	n51u UWGTLJ®ULI(LD LD 	6T6Ur06UrU5161` QUUJIJ -------/ 

3 	 / 

Name of the lubricating oil used in TM Gear case of 3 phase AC EMU is -------------- 

A) Servo prime 76 
	

B) Servo Press 150 

C) Servo Coat-170T 
	

D) Servosyn Gear 460 RR 

MCP 110 V DC 	wGa 	 QrjJffrra; 	f1co 	 êGtIT pcuih Cony 

EMU 06u OHE )6LULJ60) 	QIJg)J. 

_________ relay is provided to ensure the MCP 110 V DC supply and thereby OHE in Cony EMU? 

A) BIR 	 B) LTR 

C) YfR 	 D) CBAR 

QTGTu EMU/MEMU6o 	1tLL UFI. uwu(D 	Ju1i,/ qJH 

q11 	lfTTft?/ Role of UFL to show 	in Cony EMU/MEMU? 

A) Unit is having Fire Alarm 
	

B) Unit is ready 

C) Unit is faulty 
	

D) Rake is faulty 

ffi&Q6ii67G46uGu EMU/MEMUfr 	J UrrTL 	I.1JLU & l&L) ur) 	au 3 crT rTrj 

LuJrrLr Qujjurr? / 	H 	 i 	I7T4 	? / Function of 

Blocking diode between panto lower & VCB trip in Cons' EMU/MEMUs___________ 

A) Rake will trip when panto lowered 	 B) Rake will not trip when panto lowered 

C) Rake will trip but panto will not lowered 	D) Both A & C 

BIR 1u 	 66aT6U EMU/MEMUrf1uL-61T rr 	ULT QLUJ./ff ftt 

- I-1c1 	/1P 	 ciuI t tfMI / BIR Relay concerned v ith Equipment in cony EMU/MEMUs. 

A) Transformer 	 B) Tap Changer 

C) Switch Group 	 D) Rectifier 

EMU 	ri 67-t§5 U 	G)G)J WLU 	 J( 	U1flU6U / f71P1 

1T 	T1H 1 ? / Which part of I/MU coach contributes much to traction and braking? 

A) Coil Springs 
	

B) Hydrualic Dampers 

C) Centre Pivot 
	

D) Side beareres 

97.ir UUTU1TLGL 	GULD 	URcUIrLU / 	dqqII 

Engine utilization can enhanced by_____________ 

A) 	Giving proper training to LP 
	

B) Increasing through running 

C) Correction in time-table 
	

D) All of the above 

98. 	 TfiJ T6aT 	 uurr 	T1GaT6a)rr 	a)T 	(L.UL? / HId'II 

How many dead locomotives can be attached in goods trains? 

A) One 
	

B) Two 

C) Three 
	

D) No certain Number 
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99. 93tj@6mouj55 crew urri 

- 

Combined Crew Lobbies are classified as Category "A" 

A) 51 users 

C) Up to 20 users  

cTCflU51cUrrtff Uu 1T QrrrL GJ) 	A Tr 
/ 

with a 	number of users per day. 

B) 	Between 2 1-50 users 

D) 	None of the above 

100. 	urriT 	 uu.5l 	lGrf1 	"&GULL" 	61Jt 	1rLD 	/ T1UT 

What is the purpose fprovision of "Simulator training for crews? 

A) To improve train handling skills, loco driving 

techniques and knowledge of driving rules 

C) 	lu lmpro c energy cfflcienc 

B) 	To improve ability to troubleshoot various 

malfunctions in the locomotive equipment 

D) 	All of the above 

F'F'ICIAL LANCIJ ACE: 

wuL516ür 176J U, 	L GO 	)6U1UJ WIGTT .................... 

t1HJ J-ITTJ XVII 	 T3fI? / On hich date pat XVII of the constitution was passed in parliament? 

A) 	14Nov 1949 	 B) 14 Sep 1949 

C) 	26Jan 1950 	 D) 15 Aug 1947 

mfjPuj6b 	GTOT 6TLLIT6U 	L511J16)lGu U1 (1UL51LUULD QrflGr 	fl?/ or  

At present how many languages are enlisted in the Eight)' schedule of the constitution? 

A) 18 	 B) 24 

C) 22 	 D) 27 

J6)JGU & Qwrrl uu.JGUTurr 	 (lw QLP 4 q & 6Mrr 6T 	 6T1Lb? 

Th1-lTT 	 ID 	lT 4-lilq 	T ?/ Which mi.istry takes important decisions pertaining to official Language? 

A) 	Ministry of lionie Affairs 	 B) Ministry of Railways 

C) 	Ministry of Finance 	 D) Ministry of Law 

LJL1LL 	WffGU )1fl5I1b) QWrr0U16I ULUG&Urr(D LDJLD 6TT&&)(p 0510 Li160 

L&rTU1r6)6' QJu4Lb ffiLaLL4 6r? / 	 flTf 	 ? / 

Which Committee review the progress made in the propagation of I lindi in the particular Ministry? 

A) 	Central Ilindi Committee 	 B) ZOLIC 

C) 	TOLIC 	 1)) 	II mdi Salahkar Samithi 

aii 	QLUrr 60 QrrLurrGr rT L- rr 0 LDGItT)D 	QQ6ilQ) 	G1rGTT LoEis& Grr6?nctJ 

fl6ia 6TGUG61TG1 ? / MTT 	Ttd 	ff 4i f 	TT eO ? 

Flow nanv Lok-Sabha menibers are there in in the parliamentary committee on Official-Language? 

A) 15 	 B) 20 

C) 22 	 D) 27 

fiurr 	uiuo 3 rjdôr 8[J6fk\) 	 L8 	1 JffUUf3)LD 6)1)QJ Qrro 

6TiJ69G)? / 	 DJfl q 

What is the amount of Lump sum Award for passing Praveen Examination through private effbrts? 

A) 	Rs.1600 	 B) 	Rs. 150)) 

C) Rs.2000 	 I)) Rs.2500 

1L1GJ 6uCiQuLb 	1hJ 	GT 	itnrr1uu U)Oi 	Uuiu)L? 

1 	HTT tT T9T Tf? / In which Language we have to reply if the letter received in Hindi? 

A) 	Regional Language 	 B) 	English 

C) 	Hindi 	 D) 	Hindi and English 

a61ua Qwrról aL 	 wrr l 	arrurrr GT 	Gt1L6U6AU 	QubiGftGrr ?/ 

T1 	 3 

Which region Andaman and Nicobar is situated accurdin to Official Language Rules? 

A) Region A 	 B) Region B 

C) 	Region C 	 D) Region D 

aJ6us Qwrr 	L(PGUULn 	U&ffLLW G)LQUJW 81I6U 	T6 

R 75114M 	 crfi 4q i t7 

What is the periodicity of the meeting of Town official Language Implementation Committee? 

A) 	Once in to Months 
	

B) Once in three months 
C) Once in 4 months 

	
D) Once in Six months 

UJLUUL5)6T 1761 3IJ1G))GO a-drw 40C.4QdTffiGA6~r 	 ?/ 
4-[PT XVII 	 ? / How many articles are there in the part XVII of the constitution? 

A) 8 Articles 	 B) 24 Articles 
C) 	9 Articles 	 D) 	10 Articles 

End ******** 
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WRITTEN EXAMINATION FOR THE POST OF CHIEF LOCO INSPECTOR/BG(NORTH) IN 
LEVEL-7 OF VII PC IN ELECTRICAL(RUNNING) DEPARTMENT, CHENNAI DIVISION. 

Date: 09-04-21 	 Time: 2 hours 	 Total Marks: 100 

Instructions to Candidates: 

(a' "Candidates should write their name, designation, office, roll number/staff number, 
etc., ONLY in the space provided and not anywhere else in the answer books or additional 
sheets." 

If any answer book is found with name(s)/roll number(s) in other than the space provided, 
the answer book will not be evaluated and the candidate will be disqualified. 

Candidates should answer only 100 questions. If more than 100 question are answered, 
only the first 100 answers will be evaluated. 

There will be negative marking @ 1/3 mark for a wrong answer. 

The answer to be written only as A/B/C/D (only in capital letters as given in the question 
paper). Part headings, if any given in the Question paper, the same should be written by 
the candidates in the answer sheet. 

(f; In the answers, Corrections of any tyDe like (i) cutting (ii) overwriting (iii) erasing (iv) 
scoring off 	(v) modifying the answer (vi) •riting the answer in text form etc., is NOT 
PERMITTED. Such answers will not be evaluated at all. 

Candidates are not allowed to keep mobile phones/Electronic gadgets or any other 
documents/papers within the examination hall. 

Candidates may take the Question paper with them after the exam is over. 



TRACTION ROLLING STOCK - OPERATIONS 

In 30 loco, to isolate pan to No. 2 keep pan to selector switch in .... .... ......... position and close.................coc. 

A 	Auto , PAN-i & 2 	 B 	 II, PAN-i 

C 	I , PAN-2 	 D 	 I or II , PAN-i or 2 

For resetting VCD in WAG 9 or WAP 7 loco, wait for .............seconds. 

A 120 	 B 	 100 

C 240 	 D 	 160 

4. 

To perform shunting with 30 loco, keep ..........switch in ..........position. 

A 154 ;0 	 B 	 154;1 

C 160 ;0 	 D 	 160 ;1 

in 30 loco, Battery charger is getting supply from ............... 

A 	Auxiliary converter No. 1 	 B 	Auxiliary converter No. 2 

C 	Auxiliary converter No. 3 	 D Traction converter No. i 

In 30 loco, for charging of 	BP pressure ......... 

A A-8 	 B 

C 74 	 1) 

In 30 loco, if battery voltage drops below 

A 82 	 B 

C 90 	 D 

coc to be kept open. 

70 

47 

volts, loco will shut down. 

87 

92 

In 30 loco, continuous pressing of PSA for more than 60 seconds is called as .................mode. 

A 	VCD isolation 	 B 	 Dead man 

C 	VCD acknowledgement 	 U 	 None of the above 

In 30 loco, Constant speed control (CSC) can be activated above. .......... kmph of speed. 

A 5 	 B i 

C 1.5 	 D 15 

In 30 loco, Auxiliary converter No.2 feeds .....................motors 

A 	Traction motor blower-i & 2 	 B Transformer oil pump-i & 2 

C. CSR Oil pump-i & 2 	 D All of the above 

iO. In 30 loco, Constant speed control (CSC) will be de-activated automatically if BP pressure drops 

(with or without A9) more than ...........Kg/cm2 

A 1 	 B 1.5 

C 0.25 	 D 0.6 

30 loco, 55-10 belongs to .....................sub system 

A 	Battery 	 B 	 Brake system 

C 	Auxiliaries HBi 	 D 	 Auxiliary converter No. 3 

In 30 loco, if vigilance penalty brakes are applied BP pressure drops to .........kg/cm2. (Gauge reading) 

A 2 	
B 2.5to3.0 

C 2.5to3.5 	 D 0 

Maximum permissible speed of WAG-9 loco is .............Kmph. 

A 100 	 B 	 130 

C 140 	 D 	 160 



In 30 loco, on moving BL key from 'D' to 'OFF' position.......................brakes will apply automatically. 
A Direct brakes 	 B 	Auto brakes 

C 	Parking brakes 	 D 	All brakes 

In 30 loco, If ZBAN is switched ON in working cab. ............................................... Happens. 

A 	BP pressure drops to '0' 	 B 	FP pressure drops to '0' 
C 	BC pressure raises to 3.5 kg/cm2 	D 	None of the above 

In 30 loco, to close the Di, ensure 	 node information on screen (in driving 
mode). 

A FLG-504 
	

B FLG-550 
C FLG-570 
	

D FLG-590 

In 30 loco is having .......................... 	no. of three phase auxiliary motors. 

A 16 
	

B 22 

C 12 
	

D 13 

Parking brake is provided to.........wheels in WAG-9 loco. 

A 1,4,5&8 	 B 	2,6,7&11 
C 2&11 	 D 	1,6,7&12 

Over current relay in 30 loco is 
A OCR-86 	 B MVR-86 

C OCR-78 	 D None of the above 

While working 30 loco as 	banker, 	close...................................... cocs in pneumatic panel. 

A 70&136 	 B 70&74 
C 74&136 	 D All the above 

In 	30 	loco 	................ auxiliary motors works only in cooling mode. 

A All three 0 and single 0 	B All single 0 motors and 
motors MCP 1 & 2 

C Only single 0 motors& 	 D None of the above 
MCPA 

In 30 loco, SS-09 belongs to.....................subsystem. 

A Battery system 	 B Brake system 
C Auxiliaries HB-1 	 D Auxiliary converter No.3 

To reset VCD in WAP-5 loco, wait for ............ seconds. 

A 0 	 B 160 

c 240 	 D 120 

In 30 locos, in cooling mode, for pan to and Di.........motor creates pressure. 

A MCPs 	 B 	 MCPA 
C 	Both A and B 	 D 	 None of the above 

In 30 loco potential transformer is connected to......roof bar. 

A Middle B 	Panto-1 
C Panto-2 D 	None of the above 

The position of mode switch in leading cab of 30 loco provided with Knorr brake is............... 
A HLPR B 	 Lead 
C Trail D 	 Test 



30 loco provided with Knorr brake, Auto brake valve (A9)handle can be locked or unlocked 

in ....... ...... ......... position. 
A Emergency 	 B Neutral 

C 	Full service 	 D 	Minimum reduction 

Loco having ............ number of additional cocs (total coc on both sides). 

A 	4 	 B 	 4 + 4 

C 16 	 D 	 2 

In 30 loco, SS-05 belongs to..................subsystem. 

A 	Harmonic filter 	 B 

C 	Brake system 	 D 

WAG-9 loco is provided with .......................... 

brake cylinders............................................ 

A 12&4 	 B 

C 4&12 	 D 

In 30 loco, location of BPFL switch is 

A FLCU 

C 	In both cabs Panel B  

Hotel load 

Fire detection 

No. of direct brake cylinders and........No. of parking 

12 & 12 

12 6 

13 

B 	In both cabs Panel A 

D 	In both cabs Panel C 

To move 30 loco as live or dead ensure ................................... &................brakes are released. 

A 	Parking brakes, proportional B 	Direct brakes, proportional 

C 	Parking , Direct brakes D 	None of the above 

In 30 loco, if throttle (ATDC) is failed, keep............... switch 	in 	....................................... position. 

A 	154,0 	 B 152,1 

C 	152,0 	 D 160,1 

In 30 loco, to bring isolated sub system into service (system isolated subsystem), procedure is 

A 	Switch OFF and switch On CE B 	 Reset concerned MCB 

D 	 Operate concerned 
C 	Close concerned COC 

rotating switch 

In 30 loco, Status code '00' means 
A. 	Major fault in loco 	B. No sub system isolated 

C. 	Minor fault in loco 	D. No fault and No sub system isolated 

WAG-9 loco is having...............type of bogie. 

A 	Bo-Bo flexi coil 	 B Co-Co Trimount 

C 	Co-Co flexi coil 	D Co-Co tetra mount high adhesion 

In 30 loco before operating throttle, ensure .................................. 
node information on screen. 

A 	FLG-504 B 	FLG-550 

C 	FLG-570 D 	FLG-590 

l.jcation of C-118 in WAM-4 loco is at...................... 

A 	Motor chest no.2 towards B 	Motor chest no.2 towards 

corridor-i corridor-2 

C 	HT-3 BA-3panel D 	HT-3 BA-2 Panel 

Location of R-1 coc in WAG-5 loco is at ......... ......... 
B 	Near control reservoir 

A 	Cab-icenter locker 

C 	Above wheel no.4 D 	Cab-i left side locker 



In modified locos, when additional BP cut out cock is closed in leading side. ........................ cab BP gauge shows '0' 
reading. 

A 	Trailing 	 B Leading 
C 	In both cabs 	 D None of the above 

In each cab A9 feed valve is having .........No. of cut out cocks 
A 	1 B 	2 
C 	3 D 	4 

Brake pipe pressure should be ............................... Kg! cm2  in loco motive and ............ Kg/cm2  in brake 
van of train 	having 	58 vehicles............................... 

A 	5.0, 4.8 	 B 5.0, 4.9 
C 	5.0, 	4,7 	 D 5.0, 	5.0 

In WAG7 loco, If all line contactors are not closed, ensure......cocs are in open position. 
A 	EP 2& EP3 	 B EP 1& EP3 
C 	MR 4 & EP3 	 D EP 1 and EP2 

When BP drops below 4.4 (in BP gauge) without A9................................. starts functioning. 
A 	ACP Indication 	 B AFL 
C 	Both A & B 	 D none of the above 

In conventional locos, if ALP is driving from trailing cab and loco pilot is controlling from leading cab, do not 

exceed..........Kmph of speed. 

A 	40 	 B 15 
C 	30 	 D No Speed Restriction 

QD-1 is connected between..., and ........traction motors. 

A TM2&TM3 	 B 	 TM1&TM3 
C 	TM1 &TM2 	 D 	 None of the above 

In conventional locos during RB, if loco brake cylinder pressure is above 1.0kg/cm ....... relay will c-

energise to bring GR to '0'. 

A 	Q51 	 B 	QVRF 
C 	QE 	 D 	Q50 

The clearance between brake block and wheel tyre should be ..................................mm 

in release position of loco brakes. 

A 10 	 B 5 
C 15 	 D 20 

In conventional locos duplex check valve is set at......kg/cm2. 

A 5 	 B 	 4.9 
C 6.5 	 D 	 8 

Maximum loco brake cylinder pressure with A9 is ........ Kg/cm2  and with SA-9 is .................... Kg/cm2 . 
A 	1.8, 2.5 	 B 	1.8, 3.5 
C 	2.0, 2.5 	 D 	1.8, 3.8 

Leakages in formation BP pipe is indicated through......gauges in both cabs. 
A MR 	 B LocoBC 
C FP 	 D AFI 
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 In 58 BOXN+BV load, if 6 DVs are defective, the effective brake power is ...........................%. 

A 	(53 / 59) X 100=900/- 	 B (59 / 53) X 100 =111% 

C 	Cannot calculate 	 D None of the above 

 For grounding conventional loco, place ZPT key in HOM box in............... position and turn it 

position in clockwise direction. 

A 	50 clock, 71clock 	 B 50 clock, 60clock 

C 	70 dock, 90 clock 	 D 110 clock, 10clock 

 During CP efficiency test, when BPSW is pressed, BP should not drop below ............. kg/cm2(write the BP 

gauge reading). 

A 	4 	 B 4.4 

C 	3.5 	 D 2.5 

 During CP efficiency test, when BPSW is not pressed, BP gauge needle should show 

between......and............kg/cm2. 

A 	2.5 &3.5 	 B 	1.5 &2.5 

C 	3.0 &3.5 	 D 	Any one of the above 

 modified locos, when C145 contactor is closed. ........................................... lamp glows near Q50 

ielay. 
A 	LSB 	 B LSGR 

C 	LSC-145 	 D LSOL 

 Whenever cattle run over takes place, after clearing the block section, the 	LP has to check........................voltage. 

A 	OHE voltage 	 B Battery voltage 

C 	Charger voltage 	 D None 

 Earth fault in Q118 relay coil causes.........fuse to melt. 

A 	CCBA 	 B CCDJ 

C 	CCPT 	 D AddI. CCBA 

 Earth fault in Q44 relay coil causes.........fuse to melt. 

A 	CCPT 	 B CCDJ 

C 	CCBA 	 D AddI. CCBA 

 Defective Q 30 relay leads to .......tripping failure. 

A 	Operation A ending 	 B Operation B Part I 

C 	Operation B Part II 	 D Operation '0' 

 After taking permission from TLC, before wedging Q-44 relay................................. test is to be conducted. 

A Loco brake test 	 B LT test 

C GR efficiency test 	 D Traction test 

MTDJ (VCB type) coil is called ....................... ......... .... coil. 

A 	DJ closing, holding & 	 B 	DJ tripping coil 

tripping coil 

C 	DJ closing coil 	 D 	DJ holding coil 



Relay Q 118 is having ............... seconds of time lag. 
AS 	 B 	6 
C 3 	 D 	60 

When MPJ is put to forward in cabi, the .J1&J2 handles position are 

A 	31 up, 32 down 	 B 	 31 down, 12 up 
C 	both 11,32 down 	 D 	 both 31,J2 up 

65. In SIV locos, C108 contactor is provided for...........motor. 

A 	AC MVRF 	 B 	 DC MVRF 
C 	SIV rectifier 	 D 	 SIV inverter 

When SIV is working.......................relay energises. 

A QSIT 	 B 	 QCON 
C 	QCVAR 	 D 	 None of these 

When dead loco is attached on formation, if loco brakes are not releasing proportionally.........is to be 
isolated in dead loco to avoid wheels kidding. 

A 	C3W Valve 	 B 	 C2A 
C MU2B 	 C' 	 BothcabA9 

While working with MU, If Di is tripped in leading loco .................. & ...... ...  ......... lamps will glow in leading loco. 
A LSDJ&LSGRPT 	 B LSOL&LSOV 
C 	LSOL & LSGRPT 	 D 	LSDJ, LSCHBA, LSB,LSGR&LSGRPT 

After resetting BPEMS switch, operate ZPT from............position to..............position. 
A 0,1 	 B 	 2,0 
C 1,0 	 D 	 1,2 

Earth fault in line contactors coils causes.. ........ fuse to melt. 

A CCPT 	 B 	 CCA 
C CCDJ 	 D 	 CCLSA 

71. In conventional locos, if VCD is not acknowledged, after 60 secs..............will happen for next 8 secs. 
A Alarm will sound 	 B 	Yellow flashing light will glow 

	

C Auto regression and BP Drops D 	All the above 

In conventional locos, to acknowledge VCD, AcL. push button /paddle switch should not be pressed for more 
than,.. secs. 

A 30 	 B 32 
C 45 	 D 60 

Traction motor meter connections in Cab-i are ........ and in Cab-2 are .................................. 
A 	U1-TM1, U2-TM2, A3-TM3, 	B 	A1-TM1, U2-TM2, U3-TM3, 

A4-TM4, U5-TM5, U6-TM6, 	 A4-TM4, U5-TM5, U6-TM6, 
C 	Al-TM3, A2-TM4,U1-TM1, 	D 	None of the above 

A4-TM4,U5-TM5,U6-TM6, 

Purpose of Q119 is................................................. 

A 	To enrgise VEUL5 	 B 	 Late starting of MCP-3 
C 	To energise VEAD 	 D 	 Both A & B 

me 
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In conventional locos, if CHBA is isolated, work the train for...........hours during day time and...........hours 

during night time with minimum utilization of battery supply. 

A 6,4 	 B 4,6 

C 5,4 	 D 6,3 

The OHE supply of two traction substations is separated by ------- 

ANeutral section 	 B SP 

C SSP 	 D TSS 

n run, if OHE contact wire is found hanging, the immediate duty of the crew is................................ 

A 	Inform TLC 	B 	Keep ZPT on "0" and apply 

Emergency brakes or press BPEMS. 

C 	Inform TPC 	D 	None of the above 

is the normal authority to proceed on Single Line token/token less sections. 

A. Starting Memo 	 B. T/409 

C. Token/off aspect of LSS 	D. None 

on Double line class "B" station Multiple Aspect Signaling station section lies between_to_signal in 

either direction. 

A)SLB-LSS 	(B) Home-LSS 	(C)BSLB-LSS 

General Rules can be amended by 

(A) Railway Board 	 (B) Railway Tribunal 

(C) Joint consultant machinery (D) GM 

81. Block forward and Block back is permitted only on________________ 

(A) Single Line 	(B) Double Line 

(C) Triple Line 	(D) None 

(D ) BS LB- HOME 

A fixed stop signal of a station controlling the entry of trains into next block section is 

called 
(A). FSS 	 (B)STARTER 	(C)LSS 	(D)None 

'uring power block 	 trains are only permitted to run. 

(A). Passenger 	(B)Goods 	 C)Sub-Urban 	 (D) Diesel 

Catch siding is intended to protect 
(A) Block section (B) Station limits (C)Station section (D) none of the above 

From the time of d85. Disconnection to reconnection, the trains shall be admitted by 

(A) Piloting 	(B) Taking of recepton signals 

(C) A&B 	 (D) none of the above 

A green flag by day and a white light by night moved vertically as high and as low as 

possible indicate 

(A) Train stalling 	(B) Train parting 

(C) 	Shunting 	(D) none of the above 

method. 



When pre-warning is given about foggy weather by SM in rear, the caution order 
contains the restriction of 	 kmph to be observed after passing________ 

(A) 25-facing points 	(B) 10-outer most signals 
(C)60-Home 	 (D) 15-Home 

Dead engine must be manned minimum by 	 rank employee. 

(A) LP 	(B) ALP 	(C)Guard 	(D)SS 

Pre-warning, when given it will be given in 	 authority. 

(A)T1369(1) 	 (B) T/369 3(b) (C) T/512 	(D)T/511 

Then LP passes starter at "ON" partly and stopped before Advanced starter subsequently 
line clear is taken, 	_______________will be given 

(A) PLCT &T/3693(b) 	 (B) taking off LSS 
(C) Taking of Co acting signal 	(D) none of the above 

Signal warning board is located at a distance of 	 meters before a stop signal. 

(A) 1500 meters (B) 1200 meters (C) 1400 meters 	(D) none of the above 

After exploding the detonator, the LP shall proceed cautiously up to a distance of 

(A) 1.2km (B) 1.5km 	(C)2.Okm 	(D) none of the above 

When head light is defective after putting mar:c- light the train can go with a restricted 
speed of 	 kmph.  

(A)40 	 (B)25 	(C)15 	 (D) none of the above 

and can pick-up n 

When SM / Station staff does not exchange "all-riqht" signals, the LP shall give 
_engine whistle code. 

(A) Two long 	(B) two long, one short 	(C) Two short 	(D) none of the above 

Even though FSS is in OFF position, still if a LP of an incoming train stops at FSS and gives - 0 - 0 
engine whistle it indicates  

(A) Train stalled 	 (B) Train arrived incomplete 

(C) Train running late 	 (D) none of the above 

The BPC of a material train with UIC Bogie, air brake stock is valid for ..._, days subject to 
examination of the train by TXR once in_days. 

(A)30-15 	 (B) 15-5 	(C)25-10 	(D) none of the above 

The required brake power of material train shall not be less than --------------- 

(A) l00% 	 (B) 80% 	C)90% 	(D) none of the above 

In automatic block system to dispatch a relief locc / train in to the occupied block sectionis 
given as the ATP for the relief loco /train. 

(A) T/A912 	 (B) T/B 912 	(C)T/C912 	 (D) T/D912 

After stopping at the stop indicator, LP shall sign in the ER-7 book and proceed with 
kmph. 

(A)15 	(B)20 	 (C)10 	 (D)25 

When water over tops the rail 	 shall certify by walking over and probing that 
the track is safe and allow the train to go at a speed not exceeding 	 Kmph. 

(A) PWI,8 	 (B) DEN,15 	 (C)SrDEN,20 	 (D) SrDOI1,30 
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RAJBHASHA OUESTIONS 

When is "Hindi Day celebrated every year? 

a) September 04 	b) September 24 	c) November 14 	d) September14 

In which part of the Constitution are the Articles 343-35 1 that give information about Official 
Language available? 

a) PartXVII 	 b) PartXVIII 	 c)Part XIV 	 d) PartXVI 

At present how many languages are enlisted in the Eighth Schedule of the constitution? 
a)18 	 b)20 	 c)22 	 d)21 

go 	104. In which order Name, Designation and Sign Boards are to be exhibited? 
a)Trilingual (Hindi, Regional & English) 
b)Trilingual (English, Regional & Hindi) 
c)Trilingual (Regional, English & Hindi) 

d)Trilingual (Regional, Hindi & English) 

Communication from central govt office to a state or Union territory in region C or to any office 
Or person in such state shall be in 

a)English 	b)Hindi 	c)Hindi and English 	d)Hindi or English 

How many Hindi courses are prescribed for Central Govt. Employees? 

a)2 	 b)3 	 c)4 	 d)5 

Which is the elementary Hindi course prescribed for Central Govt. Employee 

a) Praveen 	 b) Prabodh 	 c) Parangat 	d) Pragya 

What are the Hindi courses prescribed for Central Govt. Employees ? 
a)Prabodh, Praveen & Pragya 

b)Prabodh, Praveen& Pragya & Parangat 

c)Prabodh, Pragya & Parangat 

d)Prabodh, Praveen, & Parangat 

109 	When was first time 'World Hindi Day' is observed? 

a)10 November, 2006 	b)10 January, 2016 c)10 January, 2005 d)10 January,2006 

110. 	What is the duration for Hindi Conversation course in hrs ? 

a)20 	 b)10 	 c)40 	 d)30 


